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Subject: Economics-I TIME ALLOWED: 3 hrs.

PAPER: Basic Mathematics and Micro Economics MAX. MARKS: 100

" NOTE: Attempt FIVE questions in all, selecting TWO questions from Part-I
and THREE questions from Part-IL All questions carry equal marks.

PART-I

Q. 1 a) What is meant by a Function? Also explain its different types. (10, 10)
b) Make the graphs of the following functions:
i)y C=100+0.75Y i) UQ =24
?éyu:t;rlﬁl_‘&fl e spe JU -
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i) C=100+0.75Y ii) UQ =24
Q. 2 Given the following demand and supply functions: (7,7,6)
- " P=4/5Q +10, 5P+2Q=200

i) Determine the equilibrium level of price and quantity.
i) If a tax at a rate of Rs.6/= per unit is imposed, then what will be the cffcct on price and quantity?
iii) How much tax is reccived by the Govt. and how much tax is paid by the consumers?
' gL e fom i
P=4/5Q+10; 5P +2Q =200 |
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Q.3 From the given information: ' (10, 10)
Y=C+I+G, C=85+075¥d, Yd=Y-T '
1a=30, G=20, T=20+0.2Y,
Find out the equilibrium level of National Income mathematically and graphically by using the aggregate
demand and aggregate supplytapproach
_é .g.".llf (3476 ;GJ'?:- usiS éu‘::la_l,;pz.xL.ﬂ_l?lf...Jf lﬁ#;(!)@:i..,”{!f-c_ah‘”ﬁ, i) N o
Y=C+I+G, C=85+075¥d, Yd=Y-T
la=30, G=20 T=20+0.2Y.-
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Q. 4 a) What are the maxima and minima? Explain with the help of examples. (10, 10)

C.5

Q.8

b) Find out the maxima, minima and point of inflexion of the following function,(if exist)

Y=12- DX+ X°
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Y=12- 12X +X°

PART-II

What is meant by the term "'price mechanism"? Discuss its role in a free enterprise cconomy. (8,12)

et LN LA S s e e SuRE” o

Explain the term "Marginal Rate of Substitution" and show how a consumer is in equilibrium.
if the marginal rate of subsitution between two goods equals their prices ratio. Explain with the help of
Diagram. (6, 14)
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Explain the terms Average Revenue, Marginal Revenue and Total Revenue. Draw the Average and
Marginal Revenue curves of a firm in: 6,7,7) B
i) Perfect Competition ii) Monopoly
b BL bbb LR s arinS AL S oo rS e et S s Sist Sl -2
Erssle! - g -

‘What is perfect competition? Derive the short-run supply curve of a perfectly competitive firm. (5, 15)
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What is Oligopoly? Explain the price leadership model of Oligopoly. (5,15)
-;i@u’sttLI:dz :u)?(ﬂd;bukgi&%‘-‘q.:{/L-r:.-dﬁm@l&:; -4

Q.10 Write note on any Two of the followings: (10,10)

i) Envelope Curve " ii) Income Elasticity of Demand iiij) Expansion Path
- -.u.‘6 ..‘J{uo’( e LSis e
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Subject: Economics-I TIME ALLOWED: 3 hrs.
PAPER: Basic Mathematics and Micro Economi MAX. M: 100

* NOTE:  Attempt FIVE questions in all, selecting TWO questions from Part-I
and THREE questions from Part-II. All questions carry equal marks.

PART-I

Q. 1. a) Differentiate between conditional equation and identity with the help of examples from
economics. (10, 10)
b.) The cost o_f manufacturing 10 tables per day is Rs.350/= while it costs Rs.600/= to produce 20
tables per day. Express the relationship as a linear model and draw a graph.
-c’ffc:_udluilﬁ'a.@?VJMW»‘@IJPB;" N
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Q.2 a) Explain the rules of differentiation with the help of examples. (12, 08)

b) Differentiate the following functions:
i) Y=J1-X ii) YHZ%
+ ‘ . - -
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" .. 22-5
i)y Y=J1-X i) Y==—"—-=-5
) ) Gx+6
Q.3  Given the demand function: P=100-2Q then, 5, 10,5)

i) Find out marginal revenue function,
ii) Find out price and quntity at which total revenuc is maximum ,
iii) Calculate the elasticity of demand when marginal revnue is zcro,
. 7 P=100~2Q: s Lo B JES  _r
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Q. 4 Given the following total utility function of a consumer: (15, 5)
U=XY+3X+Y
The price of Commodity X and Y are Rs.8/= and Rs.12/= respectively and the budget is Rs. 212,
Find out the units of X and Y at which total utility is maximized. Also find out maximum utility.
q_d' ifyua:b'lﬂ BEoAL
. U=XY+3X+Y
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PART-II

Q. 5 Whatare the basic economic problems of an economy? How does price mechanism attempt to solve

these problems in a free economy? (8, 12)

te JSPLISLIAS e bt et finpulerrs o

Q.6 What are Indifference Curves? Show that price effect is a combination of income effect and
substitution effect. (5, 15)
e b AL WP AT E HL s G o Y

Q.7 How a producer achieves an optimum combination of factors of production? Explain with the heip
of Isoquants. . 20

ool ufmgisBie /P ISPt e

Q.8 Differentiate between monopoly and monopolistic competition. Ilow is price determined under
monopoly? (8,12)
e tnd: U-J b’..';a?: ..-.-?Ldlbulgl. 'é‘u kJM?J)LJ: BesUlsnsle i Subansle! A

Q.9 What is Cartel? How is the price and output determined under Cartel? Illustrate your answer with

the help of diagrams. (5, 15)
_é ylﬁ:{.;iﬁrugﬁ?{.tﬁb)uf dﬁ; Kilslag sshzad JLJV’:‘;A’/L’(LJJ( -9

Q. 19 Write notes on any TWO of the followings: (10, 10)
i) Kinked demand curve '
ii) Low-Cost price leadership firm's model
iii) Expansion path.
: -u_j.b){u(f((_-gﬁdjbﬂ e
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; PART-I

qual marks.

Q. 1 if the market demand and supply functions are given as:

®,8,4)
N P=1Q+10; 5P +2Q =200,

i. Find out the equilibrium price and quantity.

ii. If the Govt. imposes sales tax at a rate of Rs.6 per unit, then what will be the effect on equilibrium price and
quantity?

ii. How much total tax is received by the Govt. and how much tax is paid by the consumers?

;ﬂd_: 5611*_‘4}‘ ] Blpbsk,»u’],}‘ li.!(di?L{c“_(f% -
P=,Z._Q+10; 5P +2Q =200,
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Q.2 What are the main rules for finding out the derivatives? Explain the importance of derivatives in the subject of
“" Economics. 8, 12)
_éukwf&ﬂé/d/’uogﬁu-,)‘rugé.ﬂgﬂnl}(ﬂ&4'-),3:"’&/0)" -r
Q.3 Given the following national income model: (12, 8)
Y=C+I+G,

C=40+0.5Yd, Yd=Y-T, I=60, G=55T=10+0.20Y

i) Find out the equilibrium level of national income (Y), consumption (C) and tax (mn

ii) Find out the marginal propensity to consume and marginal propeasity to save.

...+{.;@)d %LZ 561:(&47d ) -r
I=60, G=55 T=10+020Y
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Y=C+I+G, C=40+0.5Yd, Yd=Y-T,
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. Q.4 Given the demand and cost functions of a monopolist firm: (10, 10)

P=100-0.01Q C=50Q + 30,000

i. Find out the profit maximizing level of output and price. Also compute the maximum prdfit.

ii. If Govt. decides to impose a tax of Rs.10 per unit of product sold, then what will be the profit maximizing level of

output and price? What will be the effect on profit?

U IS SIS pnsel LT =-r

- 7P=100-0.01Q C=50Q+ 30,000 |
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PART-II

Q.5 Define an Economic System? Explain the major functions which an economic system performs. 38,12)

oo ba§ P e r LB e

Q. 6 Explain the Revealed Preference theory. Also criticize it. (12, 8)

ezl i S 22 o lonf G

. 7 How a producer achieves an optimum combination of factors of pro duction? Explain with the help of Isoquants. (20)

| -éc.')Dﬁc—u&l:l&d:v};“‘?q.t’fg}’bZ/)J(.ﬂfid/»wb’ui"br;tug

Q.8 Differentiate between monopoly and monopolistic competition. How is price determined under monopoly? (8, 12)

te el ¥t 3L Sl SOl Al nseh

Q.9 What is meant by price discrimination? Under what conditions thi s policy is possible and profitable? (15,5)

‘- JC”J}:ZBV»IU? 'lgf Lf! QJ:»E J?’é—&/buwyg?c‘-)ygc,d ]l}l

Q. 10. Write comprehensive notes on any Two of the following: (10, 10)
i. Income Consumption Curve.
ii. Dominant firm price leadership model.

iii. Marginal Productivity Theory. ‘
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NOTE: Attempt FIVE questions in all, Selecting TWO questions from Part-I and THREE

PART-I

~ Q. 1a) Differentiate between a function and a relation. Illustrate with the help of equations and graphs.
(10, 10)
b) Make the graphs of the following functions:
(i) Qd=100-5P ii) C=100+0.75Y
-é .:)U:Julc_:,b(fu}l/:,lu?',b'.’Z.i:ut_gaf.u.‘.'y/ukf ] -
ek SSdits o
(i) Qd = 100-5P i) C=100+0.75Y

Q.2 Given the following demand and supply functions: (10, 10)
Qd=4-P*; Qs=4P-1
i) Determine the equilibrium price and equilibrium quantity.
ii) Calculate the elasticity of demand and supply at equilibrium price.

..ujéé.ufw’h,”d‘ l;;‘,t il -r

2
Qd=4-P ; Qs=4P-1 .
- ' \ - 49 27 POV NV R
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Q.3 A firm has following total cost and demand functions: , 5,5,10)

TC=2Q"+20Q+300 , 4P+ Q=260.
Find out :
i) The marginal cost function.
ii) The marginal revenue function.
iii) Priceand quantity at which its profit is maximum.
’ ] KJA’JJWJLr/L{l -r
TC= 2Q*+20Q+300 , 4P+ Q=260.
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. Q. 4 A firm's unit cost of capital and labour are Re.1 an:l Rs.2 respectively and it production function is:
| Q=4LK+L and total cost is fixed as Rs.105
Find out the units of labour and capital at which the total product is maximum. Also determine the
maximum level ofoutput. (15,5).

Q=4LK+L -xgu.jlgd' ﬁzsl(ﬁ%uZJJW(jfl(.}L:ﬁ,gu‘l JJWJ( iaﬁf_v L(A.{t &
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PART-II

Q.5  Outline the salient features of a socialist economy. Explain the advantages and disadvantages of
production in a socialist economy. (20)

_éuguycufuy}gfdjlgfd&:ﬁ!f@d’lﬁLéﬁd%ﬁﬁUWﬂmﬁ b
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Q. 6 Prove that: Price Effect=Substitution effect+ Income Effect, when: (20>

i. Good is normal ii. Good is inferior
| P RS P S RN - ST
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Q.7 Explain the various types of short run equilibrium of a firm under perfect competition. 31))

-g e)l&x_ut!dﬂlagﬁgfuﬂ?axﬁﬁr}..-jl:-l'l‘i‘ -&
Q. 8 "Dumping is actually another name of price discrimination in the sphere of international
trade." Explain your answer with the help of diagram. (20)
| Y2 o ne suSpUBBS AR 2ty S L IR s TS O <A
Q.9 Explain the marginal productivity theory and critically examine its assumptions? (12, 08)
-é.ﬂ,d;_i-“b’au,ﬂémsé C'}Jd;l,f;_‘f{j’. A
Q. 10 Write comprehensive notes on any TWO of the following: - (10, 10)

i) Marginal rate of substitution ii) Dominant firm price leadership model.
iii) Kinked Demand Curve. | ,
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NOTE: Attempt FIVE Questions in all selecting THREE questions from Part-l
and TWO questmns from Part-1I. All questions carry equal marks.

PART-1

Define Saving Function. Explain Average Propensity to Save (APS) and MarginalPropensity to 515
Save (MPS) with schedule and diagram. ’

S E e o lonf (M PS);;utL*(‘”::I(APS)c«qu{LALJ./..e AlesJé
02 Diﬂ'erentiate between Aggregate Demand and Effective Demand. To what extent 8.12
National Income and employment level is affected from Effective Demand? J

?;.Jx}u..@paz J}ri’& i 3aTS Iy S E WO Sl S

(03 Explain Multiplier Effect. Describe its assumptions and limitations. 8,6,6
V) )’uwm,lgu,}'z.’.u R Seo L-‘ud/.,uu}l
(4 DeriveIS Curve. Why is it hnnzontal and vertical? 10,10

Se by L,M,nu’s»,uf 15(1S) AT
(05  Describe the tools of Monetary Policy. Explain obstacles in uchuvmg its success in developiug countrics. 128

o Seobafusmi St il kSt usitt Vi3 S L s

06 Explain and illustrate Hacksher-Ohlin Model of international trade. Describe its defects. 12,8

SISO S-S T o S PEL 2 F 513
PART-II

Define Economic Development. How is Economic Development measured by quantitative 515
and qualitative methods? ’
"::.db Jé(u"k‘ Ju’lc:..u,")dfwldjwf_J/J/’Jd/dlﬂ
()§ Describe the role of Agriculture Sector in industrial development and role of industrial 10,10

sector in agriculture development.

IS SCE G R 82 8 355

09 Explain Economic Planning. Describe its importance for a developing country like Pakistan. 515
o §u . N ., &
J/UQMIJJlgu(f;» dfcgum_¢/@u, JGM,:"UV
10 Describe the need of foreign aid in Pakistan. Suggest measures to decrease dependence on it. 10,10

u/u-%/,v!a_/ﬁ' Wit u/uuw,/&wf/u:uvf L






